
myF : 21 tl;l ehw;gf;fy;fs; 
 
xU ehw;gf;fypd; cr;rpfs; ehd;Fk; xNu tl;lg;gupjpapy; mikAkhapd; me;ehw;gf;fy; Xu; tl;l 
ehw;gf;fy; MFk; 
 
    ABCD vd;gJ Xu; tl;l ehw;gf;fy; MFk;. 
 
 
 
 
 
 
 
Njw;wk; : 
xU tl;l ehw;gf;fypd; vjpu;f; Nfhzq;fs; kpifepug;gpfshFk; 
 
 
   BAD + BCD = 1800 

   ABC + ADC = 1800 

 
 
 
c+k; : 1 
x, y ,d; ngWkhdk; fhz;f. 
 
     
    tl;l ehw;gf;fypd; vjpu;f; Nfhzq;fs; kpifepug;gp vd;gjhy; 
 
 
 
 
 
 
 RQT + RST = 1800 

        X   +  100  = 1800 

        X   = 1800 - 100 

        X   = 800 

    QRS + QTS = 1800 

       Y   + 1200 = 1800 

       Y = 1800  - 1200 

                   Y  = 600 

khfhz fy;tpj; jpizf;fsk; - thuhe;jg; ghlrhiy 

 

ghlk;:  fzpjk; 

juk; : 11 
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thuk;  - 24 



gapw;rp. 

Nfhzq;fspd; gUkid fhz;f. 

 

 

 

 

 

 

 

(ghlE}ypy; 21.1 gapw;rpia Nkw;nfhs;f) 

 

Njw;wk; 

xU ehw;gf;fypd; xU Nrhb vjpu;f; Nfhzq;fs; kpif epug;gpfshapd; me;ehw;gf;fy; xU tl;l 

ehw;gf;fyhFk;. 

    BAD + BCD = 1800 

     my;yJ 

    ABC + ADC = 1800 

    / ABCD tl;lehw;gf;fyhFk; 

 

 

cjhuzk; : 1 
   x + 750 = 1800 (tl;lehw;gf;fypy; vjpu;f; Nfhzk; kpif epug;G NfhzkhFk; 

   x = 1800 - 750 

   x = 105 

    

   a + 2a = 1800 = 
3𝑎

3
=

180

3
   a = 600  2a = 1200 

 

cjhuzk; : 2 
,izfuk; ABCD ,d; cr;rpfs; xU gupjpapy; cs;s ABCD xU nrt;tfnkd epWTf 
    epWt Ntz;baJ ABCD xU nrt;tfk; 

    juT : ,izfuk; ABCD apd; cr;rpfs; gupjpapy; mike;Js;sJ 

    epWty; : ABCD xU tl;l ehw;gf;fy; Mifahy; 

    ABC + ADC = 1800 (tl;l ehw;gf;fypd; vjpu;f;Nfhzq;fs;) 

    ABC = ADC (,izfuk; ABCD ,d; vjpu;f;Nfhzq;fs;) 

/ ABCD = ADC = 900  vdNt BAC = DCB = 900 MFk; 

/ ABCD xU nrt;tfkhFk; 

     (ghlE}ypy; 21.2 gapw;rpia Nkw;nfhs;f) 


